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few- 1. ®f g w9 afad ¥
All the questions are compulsory

2. Wl & I A T Sv-ofe § # 3 &)

Wiite the answers to the questions only in the answer sheet provided.

HT — A (Section - A)
. 0 = 8 i den -

Which of the following is a irrational number?

(a) 2 (b) 4 (c) 6 (d 2 [ ]
() (64) °FH 99 &=  The value of (64)' - 1s- l
@ 3 (b) 4 (c) 8 (d) & [ ]
() FEIZ 5X° - 47+ Ix F O 2~ Power of polynomial 5x* ~ 4x° + Ixis- |
@ 2. (b) | (c) 6 (d) 4 | ]

(iv) f&= (4. 6) F1 X-3 & 31 enfr—
The distance of a point (4. 6) from X-axis will be-

(a) 3 _ ~(b) 4 (c) O (d) 0 I 3
(v) "% 72 m = | @A o qFAa A !

How many lincs can pass through a given pont”

(a) | (b) 2 (c) . (d) = [ ]
(vi) A9FM™ F 99 211 2—  What is the measure of right anglc”

(a) 90° (b) 60° (c) 80" (d) 100° [ ]
(vii) F=T % % & F9 i &— The following docs not have a compkementany angle pair-

(a) 60°, 30° (b) 56° 34° (c) 45° 45° . (d) 90°, 120° | |
(viii) FIX 4, ZA &1 9= 2 ;4 AB=BC "3 4B = 70° :

I
In the figure. the valuc of ZAwillbe - IfAB = BC and ZB = 7(P
(a) 70° (b) 40° (c) 35° d 90 | |
B

& R . A
(ix) rEA= IS T HW Hlﬂﬂii-mvolum:ofawh:mofradius'hs- |
4 . _ >
(a) —Kl’ (b) '.jm' (¢) mrh (d) T;".'l'l' l l

(x) 8.3 7 10, 5. 6. 14, 19, 21, 25 F7 oaftaw -
The range of 8. 3, 7. 10. 5.6, 14. 19, 2125 is-

1

(a) 22 (b) 17 (c) 2§ (d* 14 B
2. Ry wwt F g% HT (Fill in the blanks)
1) N TYE T YH F AV ... g 2

The measure of a pair of supplementary anglesis .. PTO
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(ii) fa'grrrasraa.-.éqﬁqu ..... e ..._z?l?n%l 1
' triangleis ... +

() g%ﬂggﬁﬁ% _@r &1 Curved surface area of cone is .......... . |

(v) T B @ e B A AT ok b, BT R l

The sum of all the intcrior angles of a trniangle " —— 1

(v) 2T A T A e TEUE Fed & | |
A polynomial of degree two 1S called .o polynomial. |
. () TEEE x -5 H LIAD S Eﬁfﬂ"‘!_l Find the zero of polynomial x - 5. |
(ﬁ)wmmmmmmﬂ@mu ,
Write the Heron's formula to find the area of the triangle.
i) 7@ fag & i faf@m | Write the co-ordinate of the ongin. l
(6.7) #F1 Fife faf@o | Wnte the ordinate of point (6, 7. 1
§ X FT F WG FFAN A 82 |
What is the measurement of an angle in a semi-circle”
(vi) ST F A T AAEA B OgT |
Write the formula of total surface arca of hemisphere
(o) T2 TR FON T AN 180° B AT 7 F1 A 87 |
If two adjacent angles' sum is 180" then what do they form?
(vin) 'H‘Fl?ﬂ'l‘l 78 F&d €7 What is called rhombus” R
() TFFTE 4 A 1@ @ F 417 What did Euclid call a finite line? |
(x) H"ﬁﬂ?"ﬂh+5y=l§ﬂﬂf€x=(lﬂm}':l?TFiTKHWWET@ l
In the cquation 4x + Sy = K. if x =0 and y = |. then find the value of K.
8 - q (Section - B)

| . A | | . l
4. m F & FH THIF FifT | Rationalise the denominator of m 2

5. ’!ﬁ:ﬁ“‘g #fAT—  Factonse- dv: - 4y ¢ | 2
6. fog e Ty o feE e 2

< () (3, 5) (™ (-1, 3) (4) ¢ " 4) (@) (3. -4)
In which quadrant the below points w ] be odieu-
(a) (3.5), (b) (-1 3) - () (-2.4) (d) (3.-4)

7. 14 cm B AW W W 9EQ A4TEA A R ’
Find the surface area of sphere of radius of !4 cm

8, AEUZ SC-3x+7H x=2 7@ W AN el B | 2
Find the value of polynomial 5x° - 3x + 7at x - ?

9. TR wHarE A w1 dEww A Ffa By rE g 6 & & 2
lr,ndﬁu;cpag of ﬂ;%cqmlatcral tnangle w |Iu5%5§; 1S 6 cm.

10. TH B AU 12 217 : 25 & 37 IHF 9y 3 :
o e W B .-
Find the area of tnangle whose sides ratio are 12 I7'ZSandu.imepemrmn5540m
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(3) D
11. AR ¥ LABC = 69° 3 ZACB = 31° & & ~«BDC 314 #ffa7, y
In the figure, if ZABC =69 and ZACB = 31°, then find ZBDC.
12. v 3 oftsmr fofao—- ) s et i) TEn 2
Write the definition of the following terms- (i) Parallel line (ii) Line

13. ABC % Wiz, by % Rreif AB =AC &1 AP L BC d iRA s B=£C R 2
ABC is an isosceles triangle in which AB = AC. Draw AP L BC to show that /B=£C

¥ - ¥ (Section - C)
14. fg # AB=AC R aF ZC F 99 3 & | 3
| In diagram AB = AC then find the value of ZC . e
15, R & T AB|| CD, ZAPQ = 50° T ZPRD :
=127 £ @ x 30 v I F

[ndtﬁw:ifABIICD.MPQ=Sﬂ°md £ZPRD
= |27°. then find x and V. -

16 MWABWADWBC#WWW%I

| mhcn.mwﬁmmmmtn 9
AD and BC are two cqual perpendicular line scgments on 2 0
linc scgment AB. show that CD bisects the linc scgment AB

lv.mﬁmmwimmwﬁﬁu D

" Prove that the oppositc angles of a parallclogram arc oqual

18, fag Ffam 5 7 AT YA A 6 E | 3
Prove that a cvclic parallclogram 1s a rcctanglel |

19, TR BT (Provethat)- \' -V e - 302 5 o+ v =2 (x-y P+ -2F Hz-xr 4

o0, G # T T AT FAT A AW 10.5 fflo 21 16 77 94 100
aﬂroiaﬁla?#mmq'zwmmmmmm._ li‘
The internal diameter of a hemispherical bowl made of brass is 10.> cnt Find tlx
cost of galvanizing its inncr surface at the ratc of Rs 16 per IOO_Em-. o hm b

o1, F i & P @ fa (-2 D (3D 0y (1. 2) 37 (=3.-3)

FA A7 T 7 A A e 3 A L IRGS Wl,,._l_um.ﬂ

In wh:.h quotrant or on which axis do cach of the pownts (-=. 'pW |

~+" =4, -5)" Vanfy vour answer by locatng them on thcca.l\‘t;ﬁg% D M DAF
22.ABCDE$WH§WP.O.REWSW=WN‘ o \
gC. (D and

7 4= ¥\ 737Ed % S PQRS 7 A & des AB.
ABCD 15 a thombus and P Q.RandSarchnud.pows:::fs: g
DA respectively: Show that quadnlateral PQRS ts 3 rectans™



(4)
23.3&(\-—J 5&:( -l-:-):ﬁqﬁmaa‘in 4

X X

If (x-l]- =3 then (x:—-I—:J find the value.
: \ X ) ¢
"% - T (Section - D)

2. fag #ifam & v & 79 @72 o ferm w9 2 ) 5
Prove that the angles in the same sector of a circle are equal.
3441 (OR)
e el g7 & A Al e F W aRa B Foer #, a feg a3
Mt quar & )

If the angle subtended at the center by two chords of a circle is equal, then prove that
those chords are equal.

25. ABC 3iW DBC ¥ HaW BC W e 3 wfzarg et &) 29ied A ZABD = ZACD. 5
ABC and DBC are two equilateral triangles on the same base BC. Show that /ABD = ZACD.
_ 431 (OR)
zotsa B PRl wa Frge o wE BT 60° B B
Show that each anglc of an equilateral triangle is 60° '

26. 73T T "F FHT 3.5 T = I o e B m%ﬂamma}hﬂﬁﬁ#m
(Rrfr’) #1 smasgsar 2ot
A capsule of a medicine is a sphere (pill) of 3.5 mm diameter How much med:r.:me
(mm’) will be required to fill this capsulc?
4T (OR)
S | :osﬁmﬁmm#mwwmmb
How many liters of milk can be held in a semi-circular bowl of diameter 10.5 cm?

On conducting a random survey of the number of children of
plaunn mag rk. Ihe following data was obtained-

-
--n

7 mﬁrﬁxﬁammmmﬁam.
Draw a histogram representing the above data. |

H4a1 (OR)
mmmmmwm—

Construct a fr quency polveon for the rollowing £

Frew Witcher) () | S ] 10
AIEGTAT (Frequcncﬂ (f) -n

different age groups
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